A ECER (A%) BERSUHI—HE
— B [RYFA VARG 5] EE] B3 RS
ER28FEERREEERBESARTAREYYH—FHE g ER LT Bh #7) EHAST
GEEES 2016/5/22 11:00 | AEMK | 709 EROSH PKE | RIBE RERMOEFES BRY
X & \ iBh fB|luc | EE| &% | R [ B EvFikEE
RYFA ARG Z— EHHREAT Bl HE 1&— FaDEH B\H KE§ 4 BZ 100
F =B Bh £7) g|E2 HE B8 ey AL ERED =& LA A
IS 0
A ik ok 1 0 % o 2 = A ik ok
ﬁ&ﬁﬁ%%& EE B E jbﬁﬁlﬁl%%&
E K % F
KICK OFF P K
. a—b . .. - Sa1—F e
OETET BT T owE (L% mze  |B|E|E(E| w=s ST e | e JEE] XN
% | HI g =i SIE|E|S =i g Al | %
No. [ouTesh| 4 | = [ 35[24|12]35] 24|12 12| 24|35[ 12|24 35| = | 2 |ouTsra| No.
0 el 35 1lek|ek| 1|40 fnER 0
695 0 Jiid R 3|DF|DF| 2|F0EH ZEA 0 43%
0 WA = 4|DF|DF| 3|HEER fAFE 1] 1 1
0 X B 8|DF|DF| 4|&@ & 0
0 HHE KE (Cap) | 10|DF|DF| 5[it 2 0
1 1 BER Ek 7|MFlvE] 6l=X B 0
HT 1 1 1|kIER &K o|MFImMF| 7(BEFH I1EF 0 404y
0 FIER #ER 15(MF|MF| 8|FFH Zth (Cap.) 1 1
5753 0 hE BN 17|MF|MF| 9|=ZmE AR 1 2| 1 1
0 85 X 19[mFFw| 10[INA & 1 1
1 1 1B = 11|Fwlrw| 11|18 BE 2 1 1
0 K 823 12|ek|GK| 17|xTF &Xxes 0
0 =iE RE 2[|DF|DF| 13|BFH Eth 0 2
0 s 234 5|DF|DF| 20(fE@ —E 1 1 695 7
9 0 hi 2% 6|MFIMF| 12[ZEHE A 0 20
17 0 BE #A 13| MFIMF| 14|:FK 23] 0
0 TH X& 14[MF|MF| 19| EF 1EBk 0
0 EHF X 16[MF|Fw| 15|3R KiE 0
0 AT R 18|Fw]lFw| 16|ithA &3} 0
3 0 +5H &KX 20|FwlFw| 18[#TE FH 0
) BB EE EEg
BEME |=4|No| & EFL 115 it EW ER 5hR BERS =4[ No | EFL 115
B EENGEEE S BRAR |2 & F_sas O S| 0A| | simr|FE Hi 37
N ERINGEEEEED 57 |% | | ®| ST e U | 429 = | sDF[iE 2% 57
1] 2| 3l>a—K| 8| 4] 4
6| 5/ 11| GK | 6| 4| 2
11 ol 1] ck | 2| o] 2
4| 6| 10|E#EFK| 11| 2| 9
1| 0| 1|M#EFK| 6| 3| 3
1] o] 1|@z] 3] 1] 2
ol of of] PK | 0] o] O
B RERA BEF—LA No.| BmE [No.| 7Rk [No.| ZYARM | Ra7 [Bage m@p): ~ KUl —:S08% 1 2SR x B# S:va—k HAT Y
15 |BRIF S E 2R 9 |IER &K 1-0 9 ~ |&RBS
4757 | L ABEFR 9 |=@ RAK 1-1 x 9 ~ | BRBS
655 | LTS FFEK 3 |HMEE T 1-2 x 3 | ARS
PKAR Ol ifl No1 No No3 No4 No5 No6 No7 No8 No9 No10 No11 No12 No13 No14 No15
Es={:sdib ]| g% 0:36:18 ( 0:01:18 ), % 0:37:48 ( 0:02:48 ), HAFEHM 1:14:06
] XEIHF) ORI, MEFKOSL, HEF—LDA THIRIZLZHE, RRLTOET .



